
phi'
0 1 2 3 4 5 6

co
u

n
t

118

120

122

124

126

128

130

132

134
310×

*)<-3.5/4.5θ<1.8, -4.5/4.5<cos(
T

Corrected Yields 1.2<p

phi'
0 1 2 3 4 5 6

co
u

n
t

22000

23000

24000

25000

26000

*)<-3.5/4.5θ<2.4, -4.5/4.5<cos(
T

Corrected Yields 1.8<p

phi'
0 1 2 3 4 5 6

co
u

n
t

3200

3400

3600

3800

4000

4200

4400

4600

4800

*)<-3.5/4.5θ<3.0, -4.5/4.5<cos(
T

Corrected Yields 2.4<p

phi'
0 1 2 3 4 5 6

co
u

n
t

200

300

400

500

600

700

800

900

1000

*)<-3.5/4.5θ<4.2, -4.5/4.5<cos(
T

Corrected Yields 3.0<p



phi'
0 1 2 3 4 5 6

co
u

n
t

120

125

130

135

140

310×
*)<-2.5/4.5θ<1.8, -3.5/4.5<cos(

T
Corrected Yields 1.2<p

phi'
0 1 2 3 4 5 6

co
u

n
t

22000

23000

24000

25000

26000

27000

*)<-2.5/4.5θ<2.4, -3.5/4.5<cos(
T

Corrected Yields 1.8<p

phi'
0 1 2 3 4 5 6

co
u

n
t

3200

3400

3600

3800

4000

4200

4400

4600

4800

5000

*)<-2.5/4.5θ<3.0, -3.5/4.5<cos(
T

Corrected Yields 2.4<p

phi'
0 1 2 3 4 5 6

co
u

n
t

400

600

800

1000

1200

*)<-2.5/4.5θ<4.2, -3.5/4.5<cos(
T

Corrected Yields 3.0<p



phi'
0 1 2 3 4 5 6

co
u

n
t

125

130

135

140

145

310×
*)<-1.5/4.5θ<1.8, -2.5/4.5<cos(

T
Corrected Yields 1.2<p

phi'
0 1 2 3 4 5 6

co
u

n
t

23000

24000

25000

26000

27000

28000

29000

30000

*)<-1.5/4.5θ<2.4, -2.5/4.5<cos(
T

Corrected Yields 1.8<p

phi'
0 1 2 3 4 5 6

co
u

n
t

3200

3400

3600

3800

4000

4200

4400

4600

4800

5000

5200

*)<-1.5/4.5θ<3.0, -2.5/4.5<cos(
T

Corrected Yields 2.4<p

phi'
0 1 2 3 4 5 6

co
u

n
t

200

300

400

500

600

700

800

900

1000

1100

*)<-1.5/4.5θ<4.2, -2.5/4.5<cos(
T

Corrected Yields 3.0<p



phi'
0 1 2 3 4 5 6

co
u

n
t

130

135

140

145

150

310×
*)<-0.5/4.5θ<1.8, -1.5/4.5<cos(

T
Corrected Yields 1.2<p

phi'
0 1 2 3 4 5 6

co
u

n
t

24000

25000

26000

27000

28000

29000

30000

31000

*)<-0.5/4.5θ<2.4, -1.5/4.5<cos(
T

Corrected Yields 1.8<p

phi'
0 1 2 3 4 5 6

co
u

n
t

3600

3800

4000

4200

4400

4600

4800

5000

5200

*)<-0.5/4.5θ<3.0, -1.5/4.5<cos(
T

Corrected Yields 2.4<p

phi'
0 1 2 3 4 5 6

co
u

n
t

400

600

800

1000

1200

1400

*)<-0.5/4.5θ<4.2, -1.5/4.5<cos(
T

Corrected Yields 3.0<p



phi'
0 1 2 3 4 5 6

co
u

n
t

125

130

135

140

145

150

155

310×
*)<0.5/4.5θ<1.8, -0.5/4.5<cos(

T
Corrected Yields 1.2<p

phi'
0 1 2 3 4 5 6

co
u

n
t

24000

25000

26000

27000

28000

29000

30000

*)<0.5/4.5θ<2.4, -0.5/4.5<cos(
T

Corrected Yields 1.8<p

phi'
0 1 2 3 4 5 6

co
u

n
t

3500

4000

4500

5000

5500

*)<0.5/4.5θ<3.0, -0.5/4.5<cos(
T

Corrected Yields 2.4<p

phi'
0 1 2 3 4 5 6

co
u

n
t

600

700

800

900

1000

1100

1200

1300

1400

*)<0.5/4.5θ<4.2, -0.5/4.5<cos(
T

Corrected Yields 3.0<p



phi'
0 1 2 3 4 5 6

co
u

n
t

125

130

135

140

145

150

310×
*)<1.5/4.5θ<1.8, 0.5/4.5<cos(

T
Corrected Yields 1.2<p

phi'
0 1 2 3 4 5 6

co
u

n
t

23000

24000

25000

26000

27000

28000

29000

30000

31000

32000

*)<1.5/4.5θ<2.4, 0.5/4.5<cos(
T

Corrected Yields 1.8<p

phi'
0 1 2 3 4 5 6

co
u

n
t

3400

3600

3800

4000

4200

4400

4600

4800

5000

5200

5400

*)<1.5/4.5θ<3.0, 0.5/4.5<cos(
T

Corrected Yields 2.4<p

phi'
0 1 2 3 4 5 6

co
u

n
t

400

600

800

1000

1200

*)<1.5/4.5θ<4.2, 0.5/4.5<cos(
T

Corrected Yields 3.0<p



phi'
0 1 2 3 4 5 6

co
u

n
t

120

125

130

135

140

310×
*)<2.5/4.5θ<1.8, 1.5/4.5<cos(

T
Corrected Yields 1.2<p

phi'
0 1 2 3 4 5 6

co
u

n
t

23000

24000

25000

26000

27000

28000

29000

*)<2.5/4.5θ<2.4, 1.5/4.5<cos(
T

Corrected Yields 1.8<p

phi'
0 1 2 3 4 5 6

co
u

n
t

3000

3500

4000

4500

5000

*)<2.5/4.5θ<3.0, 1.5/4.5<cos(
T

Corrected Yields 2.4<p

phi'
0 1 2 3 4 5 6

co
u

n
t

300

400

500

600

700

800

900

1000

1100

1200

*)<2.5/4.5θ<4.2, 1.5/4.5<cos(
T

Corrected Yields 3.0<p



phi'
0 1 2 3 4 5 6

co
u

n
t

122

124

126

128

130

132

134

136

138
310×

*)<3.5/4.5θ<1.8, 2.5/4.5<cos(
T

Corrected Yields 1.2<p

phi'
0 1 2 3 4 5 6

co
u

n
t

22000

23000

24000

25000

26000

27000

*)<3.5/4.5θ<2.4, 2.5/4.5<cos(
T

Corrected Yields 1.8<p

phi'
0 1 2 3 4 5 6

co
u

n
t

3400

3600

3800

4000

4200

4400

4600

4800

5000

*)<3.5/4.5θ<3.0, 2.5/4.5<cos(
T

Corrected Yields 2.4<p

phi'
0 1 2 3 4 5 6

co
u

n
t

300

400

500

600

700

800

900

1000

1100

*)<3.5/4.5θ<4.2, 2.5/4.5<cos(
T

Corrected Yields 3.0<p



phi'
0 1 2 3 4 5 6

co
u

n
t

118

120

122

124

126

128

130

310×
*)<4.5/4.5θ<1.8, 3.5/4.5<cos(

T
Corrected Yields 1.2<p

phi'
0 1 2 3 4 5 6

co
u

n
t

21500

22000

22500

23000

23500

24000

24500

25000

25500

*)<4.5/4.5θ<2.4, 3.5/4.5<cos(
T

Corrected Yields 1.8<p

phi'
0 1 2 3 4 5 6

co
u

n
t

3200

3400

3600

3800

4000

4200

4400

4600

4800

5000

5200

5400

*)<4.5/4.5θ<3.0, 3.5/4.5<cos(
T

Corrected Yields 2.4<p

phi'
0 1 2 3 4 5 6

co
u

n
t

300

400

500

600

700

800

900

1000

1100

*)<4.5/4.5θ<4.2, 3.5/4.5<cos(
T

Corrected Yields 3.0<p


	Contents
	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9


